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<nnywd 6. UGLUGLNNS YUU aGNhTluNn YhNee

1. UnyG onptbph hdwuwnnd wnbuntuwpnn uncpyunb wwpwbpwihb pntyuynid hwdwnpdned
UGOwbnph nhpp nibgnn, et nnwtu hpwglnn Ywad dbrp ptipnn sntbh dpgwyhg:

2. Stunbudjwpnn untp)Gyunb wwypwbpwihb pntyuynid hwdwnpydnid £ geph2funn nhpp nbbgnn,
bRt

1) nyjw wwnpwbpwhb pniuynid nbh 2niyuywywb h2fuwbneeinel, dwubwynpwwbu, npwtu
hpwglnn Yuad d6rp ptpnn sh hwbnhwned fwlwb dpgwygnipywb L (Ywd) hp $howbuwywb
Ywnnnnipintbhg Ywd wy hwwnwbhp06nphg 606Ny ™ hGwpwdnpniginib nLbh npnzhs wgnbgnipinib
nLOGOwnt ingyu wwnwbpuwyhb niywyntd wwpwbpbbph 2powbwentpjub pnhwbnip wwjdwbbsnh
dpw L (wd) nnipu dnbpnt wyp inGunbudwipnn untpjtyunhb indjwp wwypwbpuwih pniyuhg b (Yud)
funsplnnuntint inyuw wuwnpwbpuwht niyw dntunp gnpédbincb, Ywd

2) npwtu hpwglnn Ywy d6rp pbnnn hpwgdwb wy dGrpptpdwl swdwiGepny gpuynid b ingjug
2ntywih weGywqb d6Y Gppnpnp, Ywd

3) wwpwbpwihb 2ntyuynid hpwgdwb wd derppbndwl wewyb) 066 SwywiOtn nbkgnn Gpynt
inlOnbujwnnn untpjtyunlbtnphg jnupwpwbsnipp nyjwy wwynpwbpwhb 2ntyuyntd hwdwpyned g
gbphzfunn nhpp nibbgnn, Gpb Gpwbp, npwtu hpwglnn Ywd dbrp ptnpnn, hpwgdwb Yud dErppbniw
6wywibbpny shwuhb gpwynid 60 ingjwy 2ntyuh werGwqb a6y Gpynnpnp, Yud

4) wwnpwbpwihb pntwynid hpwgdwb Ywd dGrpptndwl wewyb) i66é swyw)b6n nubbgnn Gnpkp
inlOwnbujwnnn untpjyunbtnphg jnupwpwbsnipp nyjw wwynpwbpwhb ntyuynd hwdwpyned g
gbphzfunn nhpp nLbbgnn, Gt Gpwbp, npwtu hpwglnn Ywd dbrp ptpnn, hpwgdwb Ywd dErppbniw
owywibbpny shwuhb gpwynid 60 ndywy 2ntyugh wrGwqb Gpyne Gppnpnp:

3. Unyb hnnwéh 2-pn dwuh 2-pn, 3-pn wd 4-pn Yeunbpnyg Gwfuwwnbujwé hhipbphg npbik
dtyny wnlbunbujwpnn uniplElun(bGp)p gbph2funn nhpp nubgnn E(G0) hwdwnpynid™ hwyyh webGny
nyjw] wwpwbpwiht 2nitywh Ywenigdwéph wewbdbwhwunynipniGbent wyn ontyuynid gnpénn
nlOwnbujwnnn untpjyuinlbbph pwdhbbBph pwfujwénipjwl yenpwpbpjwy:

Unylb hnnwéh 2-pn dwuh 3-pn ywd 4-pn Yewnbpnd Gwhuwwnbujwé hhdpbphg npbik d6ynd
wnlbwnbujwnpnn uniplyun(Gp)p sh(s60) Ywpnn hwdwnpdb) gbphzlunn nhpp nibbgnn, Geb Ow, npwbu
hpwglnn Ywd d6rp pbpnn, hpwgiwb Ywd dGrppGpdwl dwdwibtpny sh(s60) gpwawbgnid wnyjwg
2ntyuwyh d6Y tnwulbBpnpnp:

Unylb hnnwénd Gpwéd inlbunbuwnnn uneplyun(btn)pn Ywnnn E(6G0) GGpYuwywglbbp nygjwy
wwpwlpwihb 2ntywynid hp(Ghg) gtiphzfunn nhpph weunteintbp pwgwenn wuwjwgnygbtn:

4. SGuinGujwnnn uncpjtyunp dEGw0nph Ywd gbph2funn nhpph, win pynid” 2niuywywl
h2fuwbnigwb npndwb Yupap L swhwOhpb6pp uwhdwbned £ <wbdbwdnnnyp:

5. UrbLinpuyhb gwlGgp hwdwpynid £ gtph2funn nhpp nibbgnn, Gt hwlnhuwlnud £ snpu ud
wybh webiinpwihb opjEyuintbph hwiwfunidp, nph weBtnpuwiht gnpénibbnieiwl dwund  hpwgdwl
nwpbywb 2powlwenieniop gbpwquwbgned £ 1.5 dipn npwdh p6dn:

6. Stunbudwpnn untp)GYunl wwypwbpwihb yntyuwyned dEGw0nph Ywd gbphzfunn nhpp nlbbgnn &
hwdwpynid <wbdbwdnnndh npndwdp:

7. UGLw0anph Ywd gbphzfunn nhpp ntbtgnn tnGuinbuwpnn unipjtyunp pneéwniwb (wewnwywb
hwyywrenidhg hwabint) hwdwp wwnuwnhn b <wGébwdnnnyh Ynndhg tnpwdwnpynn inbnbYwbpl we
wyb, np <wbdbwdnnnyp sh wewnynid wnnbnbudwnpnn uncpyunp (neéwndwbp (wyeunwywh
hwywrniihg hwObnch):




